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A process has been created that repeatedly calls a sub process (once per case in the work queue). What
is wrong with this design?
Response:

A. If using a sub process, more than one queue needs to be utilised
B. Memory leaks may occur

C. Nothing is wrong with this design

D. Sub processes should only be called from the object layer

Answer: B

Where are Blue Prism web services executed?
Response:

A. Blue Prism Application Server
B. Blue Prism Runtime Resource
C. Blue Prism Database

D. Blue Prism Web Server

Answer: B

Which of the below statement is not correct about multi-object design?
Response:

A. You can't have too many objects, only too few

B. A single object should include all interactions for a given application

C. A process must consume into memory all the actions within the business object
D. Multiple developers can work on various objects at the same time

Answer: B
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Which of the following statement combinations about Blue Prism Object memory management is
correct?
Response:

A. Business objects are never loaded to memory.

B. A Blue Prism Process reads a Business Object into memory as required. Once the called Action is
complete, the Process releases the memory for the .Net Garbage Collector to reclaim.

C. A Blue Prism Process holds a Business Object in memory for the duration of its run.

D. All business objects within studio that do not have run mode set to "Exclusive" will be loaded into
memory for the duration of a session, regardless of dependencies for a particular process.

Answer: C

By default, which encoding type is used for Web Services?
Response:

A. RPC/encoded

B. RPC/literal

C. Document/encoded
D. Document/literal

Answer: A

A security company is analyzing a process which has 20 systems involved. As a solution architect of the
company which of the following solution approach you consider ensuring Business Objects are designed
to be efficient, scalable and re-useable?

Response:

A. Multiple process design in process layer

B. Blue Prism can't work on multiple application in a single process
C. Single-object design for object layer

D. Multi-object design for object layer

Answer: D
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In line with Blue Prism design methodology, which document outlines the 'As Is' definition of a process
to be automated?

Response:
A. PDI
B. ODI
C.SDD
D. PDD
Answer: D
Question: 8
What is the maximum size a collection can be within a Blue Prism process?
Response:
A. 2048 rows and 2048 columns
B. There is no limit
C. It is dependent on the specific infrastructure
D. 1024 rows and 1024 columns
Answer: C

Who is responsible for designing efficient, resilient, scalable, secure and reusable unattended Blue Prism
solutions?
Response:

A. Blue Prism Developer

B. Blue Prism Analyst

C. Blue Prism Solution Designer
D. Blue Prism Technical Architect

Answer: C
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What is mainframe terminal emulator?
Response:

A. Emulator software which will duplicate the functionality of an IBM mainframe computer termainl on a
windows PC terminal

B. Does not exist

C. Mainframe application

D. Android application

Answer: A
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